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B.Com/BBM/IMB 11 Semester (CBCS) Degree Examination, May - June 2019
ENGLISH |
Basic English
Paper -1l
(New)

Time : 3 l-Iours , Tl | Maximum Marks : 70

: SLC'l ION-I (Short Storles)
1. AnnotateanyTWOofthefollowmg | by e Sy 2 | l2X3=6) |

‘a)  Itwasa ﬂowermg mustard -field pale hke meltmg gold as it swept across miles and
mlles of even land. =

b)) “My tanpura player has not arr1ved Where is he”‘? he called over hlS shoulder.
“Why isn t he here”?. . _ , .

¢) It was the moment of my blrth and he was both my fdther and my mother to me. He -
gave birth to me-Bhaiyya, the tanpura player :

2. Answerany ONE of the following. | | = (1><10=10) '

a)  Describe the true sense of teacher and d1sc1ple relatlonshlp as it was narrated in Amta
Desai’s short story “The Accompamst” '

b)  What changes in the attitude of child did you percelve when thc chlld was with hlS
parents and he was being lost?

[P.T.0
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SECTION-1I (Essays)

i | (B3,
3. Annotate any TWO of the following. .

e for Blind Youth were firm believers B

a) Braille’s pupils in the Royal Institut f i

system in to the school s curriculum.

b) His death saw a nation unite in mourning and thou;ands Of people Journeyeq ,
Mumbm to witness the funeral and pay their respec

‘ c) - The tool that blmded him was the tool that a]lowed the blind to read ang Write.

4. Answer any ONE of the following. - - : : e, : : (1><10=10)
'a): l How dtd Dhirub‘héi Ambam beeeme phenomenal icoﬁ of Indian Entrepreneurshipv

wi: b)Y Explam what c1rcumstances did Louis Braille encounter in hlS llfe toi nventamethog
~of readmg and wntmg for the blmd

SECTION-III (Poetry)

' 5 Annotate any TWO of the followmg (2x4=8)

& a) And poppy or charms can make us sle

ep as well And better than thy stroke: «
swell’st thou then‘? P o er than th}f stroke; why

b‘.Andt‘llth ’ ill the worn - = s
) he knse iv . €y gaz d and etlll the wonder grew, that ene small head coulAd carry all

J6). I ‘have twisted creeds to fotce
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6.

Answer any ONE of the following, (1x10=10)

‘a)  Why did Syed Amanuddin Vehemently reject the classification of poets in the name

of race, religion and language?

b) HOW did John Donne justify with his arguments that Death is not mightly and
dreadful?

- SECTION-IV (Grammar)

. Change the following sentences as directed. 5l (5%1=5)

a) Rameéh is stronger than Gopal.

(Change it into positive degree)

. b)  Very few cities in India are as big"as _chennai.

‘(Change it into superlative degree) o

)i Austraha is the smallest continent in the world
_ (Change it into comparatlve degree)

d) Gopallis cleverer than any other boy in the class.

(Change it into positive degree) -

e) Mr. George is the most popular teacher in the staff.
| (Change it into comparitive degree).

Choose a right modal to fill in the blank: -' = | l - (SXI=5)
a) All citizens _~ | (ought/must) to pay taxes to the Govemment N
b) He s‘aid he | - (may/might) be late. |
) Vehicie drivers | (ought/should) not drink and drive. :

' ‘ [PT.O
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d) He said that he

¢) Thopeit (can/may) rain- tonight.

9. Change the following sentences as directed.
a) He wrote a letfer.' | "
(Rewrite it into past perfect tense) -
b) * He had flown fQ Delhi. S
(Rewrite it int’b simp]e-p‘as'.‘t tense) S
c) Ramesh had sung a song

) (Rewnte it mto past perfect contmuous tense)

‘ d) ‘ They had been playmg crlcket well
(Rewnte 1t into SImpJe past tense)

ie) | '.He drove‘a car

-(Change it intq past perfect tense)

(will/would) be there at 8’0o clock.

(sztiﬂi
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BA/B.Sc/B.Com/BBMIBCA/BSWIGMT
IT Semester Degree Examination, May / June 2019
ENGLISH
Basic English
Paper - 11
(New)

Time : 3 Hours Maximum Marks : 80

Texts : Words and Beyond, and Grammar.

L Amotateany TWO ofthe following. (2%6=12)

a) The cutting curved sharply, and in the darkness the black entrance to the funnel loomed
up menacmgly o

wutab) . The status and power of women inthe famﬂy differ greatly from one reglon toanother,

and there are good reasons to except that these socral features would be related to the. . -
economic role and mdependence of women.

c) [ want a wife who assumes the complete respon51b111ty for buth control, because Ido
not want more children. -

d) = They say a woman’s body is like a lump of dough, some women have the looseness of -
- under-kneaded dough while others have the clinging plasticity of leavened dough.

IL  Answerany ONE ofthe following. By (Ax16=16) -

a) Briﬁg out the tragedy of Baldeo and how it becomes a precursor to the new story of
Baldeo’s Son, Tembu.

b). Whatare the specific duties of a wife that be little freedom or individuality of women
according to Judy Brady’s essay “Why I want a wife”?

[PT.O
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IIL  Annotate any TWO of the following. (2. ll
a) My grandfather could cut more turfin a day
Than any other man on Toner’s Bog.
b) Hewas mamed and added five chlldren to the population.
c¢) Remember, no men are strange, no countries foréign
Beneath all unifonns, a single body nreaths like ours.
d O lbr& of the universe save them.
IV Answérany ONE of e llowing. e

- a) - Howdoes Séanius Héaney Spoem “Dlgging ’become a record of dogged persistence
of rural folk? Why is it totally connected w1th natural settmgs and the bounty of

b)) What umversa] mensnge does J annes K1rk up nonvey ﬁough his poem ‘No Menae
_ Forelgn”? ' : .
A." Re“n'ité the following sentences into reported spéenh: (4X2=8) 2
i) Shesaid, “Rama writes well”
ii) - The Pohce said to him, “Where do you hve m'thls town f_ !
iii) She said to th, “I'donot beheve you”. . _ . i : J-

iv) Thejudgesaid, “Call the first witness”.
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B. Choose a right modai to fill in the blank. (4x2=8)
i)  Vehicle drivers (should/would) not drink and drive.
ii) You (may/shall) come if you wish.
.ii'i) .'Each and every f:itizen ~ (ought/must) to respect the Law.
| iv) Peter has a computer that ___ (can/wili) fit into his Jacket pocket.

'C. Frame “Wh-question forms” so as to get the underlined part as the answer

i)  Rama’s father is a teacher.
5 5 . X Yoot

ii) Shegoesto USA for her higher education. -
~ iii) There are twenty studen"cs in the class.

| iv)‘ They opened the lock vﬁth akey.
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B.A/B.Sc¢/B.Com/BBM/BCA/BSW/GMT II Semester
Degree Examination, May/June - 2019
ENGLISH
Basic English
(New CBCS - 2016-17)

Paper No: II

Time : 3 Hours S Maximum Marks : 70
Texts:  Words and Beyond, -and Grammar. '

L  Annotate any"I‘,WO of the folloWing. th s ok : : (2x4=8)

a) Iwantawife who W111 take care of my Phys1cal needs I want a w1fe who will keep
my house clean. :

b) . -They say a woman’s body is like a lump of dough, some woman have the looseness
' of under-kneaded dough while others have the clmgmg plastlelty of leavened dough.

c¢)  The cutting curved sharply, and i in the darkness the black entrance to the tunnel
- loomed up menacmgly : :

~d) IfRamanujan had been better, educated, he would have been even more wonderful
than that he was. ’ v gt

1. Answerany ONE of the following. - (1x15=15)

a) = Whatare the roles thathave been earmarked for woman as explained by Judy Brady in
her essay “Why I Want a wife”?

b) «The Weed” is the story of innocence and ignorance, Elucidate.

[PT.O
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III Annotate any TWO of the following-

d added 1 f ve children to the population.

a) He was married an
b) | They didn’t tell me
how much of my pains' |
_ They needed to quench _their thirst;
Ird havew gwen them. | -_ |
©) My grandfather could cut more turf i m a day :
» Than any other man on Toner S Bog
d) ':Re‘i‘lembef, Wc-who take arms _agam'st eaeh che.r, ' i

- Itisthe human earth that we defile; o

i IV AnsWeranyONEefthefollowing. Sl gy el R s (Ix15=15) .';1

a) - “Both spade and Pen have great impact on the development of human society”. |
However, Seamus Heaney took the Pen instead of a spade. What did he wantto do
with 1t‘7 Justify the statement with your answer.

M e R ¥
b oy VS N o O L > R
i b e SRS S A L

b ;miﬁqumjm Mohanty’s poem “Gandhl” Portray the character and personalfy

V.  Grammar:
a. Rewrite the following sentences into repdrted speech (4 |
i)  The teacher said, “The Earth is round” | |

ii)  Gopalsaid, “I don’t goto film™.

Scanned by CamScanner



lﬂﬂllllllﬂlﬂllllﬁllll 3) 35201

iii) The police said, “Search the house”.

iv) She said, “Where are you going™.

b. Choose a right modal to fill in the blank. |  (4x2=8)
i)  This 1.“edi0ine.____-__ (may/should) soothe your cough.
if) ~Each and every citizen ‘- (ought/must) to respect the Law.
) iiij He said he _ ik (may/might) be late. |

iv)  Atime table 5 | (must/ought) be set for withdrawing the army.

Frame “Wh-question fo_rrris” so as to get the underlined part as the answer.
- - ' (4x2=8)

i)  He went to USA for treatment

ii) He died at his village in the year 1995.
iii) Sheela is the second daughter to her parents.

iv) There are twenty sheep in the flock.
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B.Com./B.B.M. 11 - Semester Degree Examination, May/June - 2019

~ HINDI (Basic)
(Sludy of Indian Language)
Paper - 11

Time : 3 Hours

g 1) fEe g2 AR A fa b o)

Maximum Marks : 70

L WA A E WEoamen st (2%10=20)

a) o wEE, el gaw . oy,
ﬁ-ﬁﬁ,_sﬁqﬂm,
ﬁmm#:ﬂqw
b msr%ﬁs'aaarr ﬁquﬁwm?
| Hﬁmaaq?—rlﬁmawazﬁ?
.waqm'}m’mw ga?marcﬁmlﬁ%
. @mﬁmmﬁm_mﬁ%r T gl
O W A (e W), w@ W G g
. fau el e LTS
2.- ﬁFﬁ-E‘T gHl & T rl?r!f@'ql - . (2x10=20)
a) mﬁm,mmwaﬁmﬁ‘ﬁf@m
b) "em guA, mm@mmﬂmaﬁﬁﬁhﬂl
c) m%mﬁm,mmmmaﬁm rrﬁam
[Conid....
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Gopal Knshna Gokhale was a great patriot. He lead the freedom ‘movement
prominently. He was a very good orator too. The people joined the freedom movement,

having listened to his inspiring patriotic speech. His s1mple and self less hte is a ro‘ﬂ 3
model to all. "
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B.Com 1T Semester (CRCS) Degree Examination, May/June - 2019

ECONOMICS

Monetary Economics

Time : 3 Hours

Instructions to Candidates:
Answer all the sections.
AUy Rnnenr  wv3oA,

SECTION - A
ATALT D)

I.  Answer any Five of the following.
BINT  oIRRmOrD  wwh JIIReR  wvIos,

1. What is money?
TEO DOTTBENT

2.  What is Banlc money?
EROB  ToED QOTBE?

3. What is mixed ccondmy?' '
B, WPFRTE DOTBERT

4. What is inflation?
©8 FXTED DHOBBED?

5. What is credit creation?
z:ias_op AZToFED  OWOERT

. 6. Expand “SEBI”
SEBI($2)0), HI0X0

7.  What is lender of lost resort?
wod  oremed | DOBTRd?

Maximum Marks : 70

(5%x2=10)

[PT.O.
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SECTION - B 1
- ,
i (3
I Answer any Three of the following. % S<1
S9N olwmymosdn  Swd  BENON 4030
‘8. Explain the defects of bartar system.
T oM Igsoh cwexnvdy STORO
1 - ™ i lopment.
9. Explain the role of money 1n economic deve
SOFE  opIHONY TRB gIRY  HFOAO. ril
: ' I
10. Explain the types of Index number. n
RpBosHY PRV DBORO. |
11. Explain the cost push inflation with the help of diagram.
dzzsf 3930 @ga_:jﬁdgaajmq Beaioedzn rqudac&raoaﬁ DO,
12. Exp]ain the_ objectives of monetary policy.
Brotods  eIoD  LUGEINTR),  DW@OAD..
o SECTION -C -
(3x15=43) _

L Answer any Three of the following. .
39N SRPYTBETe St TIAER  wv3DA.

13. Explain the nature and significance of money.
B FoeT HE  HEIDH, DTORO.

14. Explairi the cash 'trahsact'ions approach. - . -
. SR [I@TRT  F{ERES  (HTO° RaNETOED)BTY, - DWORD.

-

15. Explain the effects and control- of-' inflation. - . - '
VITROB  TOFOINTSY, DBORD =D T, J0Ho
Ro23R0. » 2, = dppsaB3 Gk

16. Explain the role of Banks in Ecoﬁomic development.
SOFRPTFHONY  WOoBNY IV, J[ORO.

17. Explain the functions of Central Bank.
3e08 03I TOORFNTR,  ITORD.

SR IR,
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B.Com. IT Semester Degree Examination, May/June - 2019
ECONOMICS
Industrial Economics
Paper No. - 2.4
(O1d)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
1.  Answer All the sections.
DY DgPARIRL  HOIORD.

SECTION - A
QALON—
Answer to any Ten questions of the following in three or four senctence.(10x2=20)
8 IINS Poedte BH IFReR DRD OF@ T WINYY wvZgoA.

1. What is Industrial economics.
%rraazm OFFIT  DOTTEDH?

2. What is Industrialization?
8@0&@569&) DOTITEN?

}. What is optimum firm?
Clatot emqsm TT D0TTEN?

L. State the Meaning of Industrial location.
%maa'a R%&(’ﬁ'di‘ad OPFIR, S9A0.

What is Industrial producvity.
30 YUIEE3 D0TBTD?

State the Meaning of Industrial centralisation?
3medm  3:0Q¢30  DOTTERD?

[P.T.O
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VU O O 0
: ize. i ,
7. Write the any two features of °”‘L’,"£ j:\dcao ©Beneay Alelevile}
uBsFmEE Qo SRR
8. What is Foreign investment.
DBed THRBT H0B0E?
1
9. What is MNC’s?
w&oa%eod: FozAINS0TBBED?
1
10. Expand AITUC.
AITUC 030:134 53?:\:_’06?0 208000.
: ; 2
. T Industrial policy.
11. Mention the any two objectives of 1956 5 i
A0.
19568 o0 JedodH O3PRYTOTTR DT Qg e3N NN 2
12. What is disinvestment.
BB Ho3ried 20TTeR?
SECTION - B
QLIN—W
Answer any Three of the following questions. (33
39NS  odePmemte Hwed JIARYR  LIOA0.
13. Explain the Globlisation?
23ON3CTITD  DOWBEIN?
14. Explain the factors inhibiting Industrialization.
37o03eF0TT), SBERBOINES OINIW, DTOD.
15. Explain the factors determinants of optimum size.
STIF MSBR, ORI VO, DTOR.
16. Brifly explain the Industrial decentralisation.
RO3TRN  FTOINRY aéeogeﬁdraasmd O[O,
17. Explain the importance of Industria] Productivity,

gmdm  WIRDES aaaguaﬁ?b‘l DTORD.
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18.

19.

20.

SECTION - C
AT B

Answer any Three of the following questions. (3%15=45)

B3 FINT O3PPTTTR  Fowedh  IJJREN Gv3dAO.

Explain the role of industrialization in economic development.
@@:—'@2,355@% o9 %ma&esdsad mgdabol RAROD.

Discuss the sergeant florence theory of Industrial location.
moveior HBRSN, OWT  §redde m@aeﬁdmd ATROBRD),  23BF 0.

Explain the advantages and disadvantages of multinational company.
2)TITIRKEOD J0TING Todeems Tone  OTIRRINGS),  DTOAD.

Explain the merits and demerits of foreign capital.
OBed  o@$ e W) WRTLNTRY DB|OAD.

Discuss the various types of foreign capital.
NBed  WORTOST NG TFONTR, BIFA0.
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B.Com. I Semester (CBCS) Degree Examination, May/June - 2019
COMMERCE '
Income Tax - [

Paper No : 7

Time : 3 Hours Maximum Marks : 70
SECTION - A
Answer any FIVE of the following: (5%x2=10)
1. - What is income tax?
2. Whoisaperson?
3. Whatdo youmean by tax free incomes?
‘4. Who is a specified assessee?
5. Whatisannual value?
6. Whatis profession?
7. What s depreciation? ;
SECTION-B
Answer any THREE of the following: o (3x5=15)

8. Mr. A, aBritish national, comes to India for the first time during the year 2012-13. During
the financial years 2013-14,2014-15,2015-16,2016-17 and 2017-18 he is in India for 55
days, 60 days, 80 days 160days & 30 days, respectively.

Determine his residential status for the assessment year 2018-19.

9,  Mr. Sunny, an employee of ABC Ltd, retired on 31/3/2018 after serving for 35 years and 8

months. He received Rs. 1,00,000 as gratuity from the company under the payment of

gratuity Act 1972. His monthly salary on the date immediately preceding the date of
retirement is Rs. 2,080. Find out the exempted and taxable gratuity.

10. Find out exempted house rent allowance of Mr. Anil working in Hubli other details are as

under: :
Salary per annum for the purpose of HRA Rs. 36,000. HRA received per annum Rs.

9,600 Actual rent paid by an employee per annum Rs. 14,400.

11. Determine the gross annual value of house prdpeﬁy: .
~ Housel - Housell

Particulars ‘
Fair rent 42,000 60,000
Municipal value 40,000 58,000
Standard rent 41,000 50,000
Actual rent 40,000 - 55,000

House II vacant for one moath.

12. Define business. What are the expenses, which are expressly disallowed in computing
business income? (PT.O
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13.

14.

Answer any THREE of the following:

Mr. Shankar furnishes the following particulars 0
year relevant tothe AY 2018-19.

a)
b)

SECTION - C
(3 | =

f his income earned during th. .,

Interest received from Mr. Rakesh a non-resident, on the loan provided to 1,

business in India Rs. 56,000 i ‘
Profit from business in Bangladesh, this business 15 controlled from Delh; (1,

the profit deposited in a Bank there & 40% is'.remittgd to'lndla? Rs. 80,000,
Interest on German Development Bonds (1/3 s rc:cellved in India) Rs. 1,02,0¢
Income from agriculture in Pakistan, remitted to India Rs. 62,000.

Income from property in Canada received in USA Rs. 2,20,000.

Income earned from business in Iran, business being controlled from Mumby; .
50,000 is received in India) Rs. 1,30,000.

Dividend from an Indian Company Rs. 20,000. g d
Royalty received in Singapore from Mr. David, a resident in India, for technical ser...
provided for a business carried on in Singapore Rs. 50,000.

Profit from a business in chennai controlled from Singapore Rs. 2,50,000.
Profit on sale of a building in India but received in Nepal Rs. 5,00,000.

Income from agriculture in Punjab received in Mumbai Rs. 60,000.

Compute his gross total income if he is |

i) Resident - i) Not-ordinarily resident  iii) Non-resident

Miss. Madhuri is an employee of a private company in Bangalore (Population 40 lakhs)
She gives the following details of her salary for the previous year 2017-18.

a)
b)

c)
d)

e)
f)
g)
h)
i)
k)

Basic salary Rs. 15,000 per month.

‘Dearness allowance at 50% of basic salary (considered for retirement benefits).

Bonus for the year Rs. 24,000.

Project allowance Rs. 2,000 per month.

Entertainment allowance Rs. 1,000 per month.

The company has provided a telephone at her residence & met the expenses of Rs
5,000. :

She has been provided with a rent free furnished house owned by the company. The
cost of furniture provided there on amounted to Rs. 1,75,000.

'I'hehemployee and the company contributed to an unrecognised provident fund at | 5%
each.

The company provided the services of sweeper & watchman and paid Rs.300 per mon”
each as salary to them.

She paid professional tax at Rs. 300 per month, Cdmpute her. income from salary for
the assessment year 2018-19..
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{5. Smt. Manjulais the owner of 3 houses in Raichur, She has furnished the following particulars

for the previous year 2017-18,
1* House

Its annual municipal value is Rs. 36,000. It is used for her own residence. She paid

Rs. 3,000 .towm'ds municipal taxes, Rs. 1,000 towards fire insurance premium and Rs.
9,000 for interest on loan taken for constrution of house.

2" House
Its municipal value is Rs. 24,000. It is let out at Rs. 3,000 p.m. She made the following
payments:

Municipal Tax Rs. 1,500
Land revenue Rs. 600
Repairs Rs. 5,000
Legal expenses-to get the house vacated Rs. 1,500

This house remained vacant for two months Rs. 9,000 arrears of rent of previous year
2017-18 could not be recovered from the defaulting tenant. The tenant has vacated the house.
3 House ) | |

The annual municipal value is Rs. 66,000 (fair rent Rs. 60,000), but standard rent is
Rs. 54,000. It has two identical residential units. Each of which has been let-out at
Rs. 2,000 p.m. She paid municipal taxes Rs. 3,600, ground rent Rs. 1,800, interest on loan
taken for construction Rs. 9,000.

Compute her income from house property for the AY 2018-19.

From the following particulars, compute the business income of Mr. Shiva for AY 2018-19.

~ Particulars Amount - Particulars Amount
To salaries 90,000 By gross profit
3,50,000 : _ _ -
To rent 20,000 By dividend 4,000
To service charges 4,000 By bad debts \
To legal expenses 5,000 Recovered
To reserve for income tax 6,000 (allowed earlier) 4,400
To depreciation 12,000

To expenses on acquisition: of patent rights56,000

To office expenses 42,000
To contribution to RPF 12,000
To bad debts 4,500
To donation 2,500
To net profit 1,05,600

3,59.600

By interest on post office

saving bank A/C 1,200

3.59.600

[P.T.O
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Additional information:

37228

a)  Legal expenses include Rs. 2,000 incurred by the assessee for defending crimina
case against him
b)  Depreciation of the year on the assets other than the patent rights in Rs. 16,900
c¢)  Contribution to RPF includes Rs. 2,000 not yet paid.
The following is the summary of cash book of a Doctor for the previous year 2017-18.
Receipts Amount Payments Amount
Opening balance 1,112  Salary to staff 12,000
Consultation fees 1,62,000 Cost of medicine 3,000
Visiting fees 13,000 Rent of dispensary 6,000
Sale of medicines 5,000 Laboratory expenses 2,500
* Interest on unlisted Car expenses 6,000
debentures (net) | 4,500 Surgical instrument 6,500
Interest on central Stationery 500
Govt securities 1,000 Medical journals 100
Interest on treasury ~ Personal drawings - 1,40,000
Savings certificate 832 Wealth tax - 2,000
| Advanceincometax 4,400
Sundry expenses 680
Closing balance 3,764

1,87,444

- T1,87,444

Compute his total income for the AY 2018-19 after taking into consideration the féﬂ'owing

information.

a)  Half of the car expenses relate to his personal use.

b)
Welfare Fund.

Sundry expenses include Rs. 400 being donation paid by him to the Air Force Central

¢) Depreciation allowable is Rs. 2,500 pertaining to profession.
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B.C()m. l] scn]cstc

r [){‘ lr . ~y
i, ¢¢ Examination, May/June - 2019
COMMERCE

R e S b SR T S

Paper .
s 2.3 s Fi
: Financja) Accounting - 11

(New)

 Time : 3 Hours
. 'Nﬁatﬂess . Weightage, Maximum Marks : 80
. Answerany t Section - A
3 oh o y fen of the following, '
1... Who is an Insolvent Partner? (10%2=20)
2. Mention Two differences b

S ] , between Amal : .
3. What is sale to a company? algamation and sale of partnership.
4. What ?s piecemeal Distribution of cash?
; 5.  What is Realization Account?
6., What is short working?
| 7. What is sub - lease?
‘8. How do you record inter departmental transfer of goods?
9. What is Joint venture? B

10. Give two differences between Revaluation Account & Realization Account.

11. Give two objectives of departmental accounts.
'12. What is joint Bank Account?

Section - B
Answer any three of the following =~ (3%5=13)

13. State the objectives of Amalgamation of Firms.

14, State the obj‘ectives of sale to a company. .
e sharing profits comes in the ratio of 3:2. ‘X’

n a joint ventur
lue Rs. 24,000 and Incurs ex
00 and Incurs Expenses

ture for Rs. 60,000. ‘Y’

penses amounting to Rs. 4300. ‘¥
amounting to Rs. 3000. ‘Y’
is entitled to a commission

15. X & Y were partners i
supplies goods of the va
supplies goods of the value Rs 18,0

“sells the goods on behalf of joint ven

of 3% on sales.
’ oks of Y’

" Prepare joint venture A/c in the Bo |
[BT.O.
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16 On what basis the following expenses ar¢

17.

18.

d) Audit fees i
f\)B a:: ?au::::);,;}:na:f:hamg profits and josses in the Rz}t;ﬁ (())‘t; i :2:1. They dissol... §
their firm on 31-3-2017. On that date their posxtlon was as
Capital Accounts :
A 1,60,000
B 80,000 - &
C 40,000
Reserve fund 40,000
Profit & Loss A/C [C/1] 20,000
Realization loss 1,00,000
_ Prepare the capital Accouats of the partners.
" Section - C
(3x15=4j)

@
allocated 10 department
a) ‘carriage inward

b) commission on sales
¢) Rent and rates

Answer any Three of the following.
From the following information prepare the departments trading & profits & losses

account for the year ending 31-12-2017 ‘

Particulars Dept M Dept N ‘Total
Opening stock 1o ' 10,000 15,000 - 25,000
Purchases : 2,10,000 1,05,000 3,15,000
Sales 4,15,000 3,10,000 7,25,000
Return outwards 10,000 5,000 15,000
Wages | 18,000 . 16,000 34,000
Sal . - ’
Reni’y : 40,000
Discount allowed | 10’000,
Discount Received : o
Advertisement ‘ ; 12,000

. : 21,000

Closing stock y
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20.
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- The working of the lease for the first fiv

3) 32221

“ Other information : -

RO appon:ﬂcd N Department M- 5 persons, N - 3 Persons.
occupied by Departmen; M - 600 sq.ft, N - 400 sq.ft
3) Inter departmenta] transfer - h =
a) Department M to N Rs, 20000
b)  Department N to M Rs. 15000
A'mining company leased a Jang from R .

with a minimum rent of Rg. 60,000 p/a
actual royalties was recoverable out of

aju at a Royalty of Rs. 3 per tonne of ore raised
. Each years excess of minimum rent over the
the royalties of the next 3 years.

e years.
et Output (Tonnes)
1989 12000

1990 18000

1991 27000

1952 45000

1993 75000

'Prepare royalty a/c short working a/c, and Rajus a/c, in thé books of the company for the
above period.

Ramesh somesh and umesh are partners sharing profits equally. They decided to dissolve
the firm as on 31/12/2006 ' - ' '
Balancesheet as on 31/12/2006
Liabilities Amt. Assets Amt,
Capitals Buildings 25000
Ramesh 30000 - Machinery 7000
Somesh 20,000 Furniture 3000
Umesh 10,000 Stock - 21000
Creditors 5000 Debtors 8000
Cash 1000
65,000 65,000

The Assets are realized as follows :

1. Building Rs. 33,000, Machinery Rs. 6000, Furniture Rs. 2,500 Stock Rs. 22,500
and Debtors Rs. 6400.

Creditors were paid in full. The expenses of realization amounted to Rs. 400.
Prepare the necessary 'cdger accounts.

2

[P.T.0.
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21. P, Qand R are partners sharing profits and losses in the ratio of 5]:3.%}'122‘;::“0“mg in
the balance sheet of the firm as on 31-12-2015, when they dissolve
Liabilities Rs. Assets Rs.
-; Creditors 40,000 Premises 40,000
| P’s loan 10,000 Plant 30,000
Reserve 10,000 stock 30,000
~ Capitals : . Debtors 60,000
E P | 45,000,
Q 12,000
P R 43,000
| | 1,60,000 1,60,000

22

It was decided to repay the dues to partners as and when the assets realized the details

of realization are as follows :

1st Instalment e Rs 30,000
2nd Instalment e Rs. 73,000 .
3rd Instalment A - Rs. 47,000

Prepare statement showing'distribﬁtidn of cash under surplus capité,l method.
Kumar Qf Koppal and Ganesh of Gangavati were in joint venture and decide to send 200

- bags of rice to Basavaraj of Bellary to sell of rice on joint venture.,

Kumar & Ganesh have agreed to share the profit equally.

Kumar sent 120 bags of rice valued Rs. 80,000 by incurring Rs. 5000 as expenses for
freight & insurance. Ganesh sent 80 bags of rice at Rs. 60,000 by incurring expenses of

" Rs. 3000.

Basavaraj s.(_)ld all the bags for Rs. 2,00})00.' He is entitled for a commission at 5%
on sales and he incurred Rs. 2000 as expenses. He has remitted the balance to kumar.
The account between kumar and ganesh were settled. |

Show the necessary ledger accounts in the books of kumar and ganesh by recording

all the transactions of the venture.
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B.Com. 11 .
Semester (CBCS) Degree Examination, May/fune - 2019
. COMMERCE
Financial Accounting - 11
Paper - 2.3(New)

Time : 3 Hours | .
[nstructions to Candidates: Maximum Marks : 70
. Neatness carries weightage.

SRR SECTION -A

- L.~ Answer any FIVE of the following :

When Garner V/s Murray Decision is Not Applicable?
Why Revaluation Account is prepared? .

"*Give the Journal entry for purchase consideration Received.
What is Joint Venture? :
State the types of Royalty. R '

| What are the Accounts to be prepared in closing the Book
- firms. ' I
‘7. What Journal entry is passéd by the lessee for

(5x2=10)

s'of Amalgamation of

[rrecoverable shortworkings?

SECTION - B

IL.  Answer any_THREE of the following :

8. Give Differences between Joint Ve

f Departmental Accounts.
th the help of following Information.

. (3%5=15)
ntures consignment.

9. State the objectives 0
10. Calculate Minimum Rent for 2014 and 2015 wi

a)  Minimum Rent Rs. 91,250 p.a.
b) In2014 strike for 125 days.

¢) In2015 Lockout for 100 days.

d) Inthe event of strike lease provides that minimu
propom'onate]y and In case of lockouts concession in

period of lock out.

m Rént should Be reduced
Min. Rent at 60% of

[PT.0
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11.  From the followi ing particulars preparc Revalu

371*.

-..‘__I

(2)
ation Account In the Books of .|

who are agreed to amalgamate with C&D.

Liabilities
Capitals
A
B
Creditors
Bills payable

Balance Sheet of A&DB R
Rs. Assets | ) \

Cash j:“

20,000 Debtors ;:.r,‘
20,000 Stock , )13
10,000  Machinery 15.001
52’383 | 55,000

The Assets and liabilities of A&B were valued as und'er. i !
Debtors 24,000 stock 10,000 Machinery 17,000, Creditors 9,000, Bill payable

3,000.
12.

Capltal Accounts

N A |
. C
. Reserve Fund

Profit & Loss Alc (Cr): A

- Realization Loss

A, B & C are the partners sharing profits s & losses i in the Ratio of 2:2:1. They dissolved
their firm on 31.3.2016 on that date their position was as follows.

1,60,000
80,000
40,000
40,000
20,000
1,00,000

Prepare the capital Accounts of the partners

ITI. Answer any THREE of the following.

SECTION - C-
(3x15=45)

13. x, y & z are the partners sharing profits losses in proportion of 4/9, 2/9 & 3/9
respectively. They agreed to dlssolve the ﬁrm on 1.1:2014. On which date their Balance

. sheet stood as follows.
" Liabilities =~
Profit & Loss Account
Reserve fund
Bills payable
Sundry Creditors
Loan From ‘x’
Capital Accounts
X
y
z

Rs.. Assets Rs.
2,250  Cashinhand 500
6,300  CashatBank 3,250
2,050  Sundry Debtors 15,500
4,500  Bills Receivable 2,800
2,000 Investments 12,000

Stock 9,700

34,000 ° Furniture 1,850
23,000  Machinery - 7,500
1,500  Buildings 22,500
75,600 75,600
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Furniture

14.

15.

o 37221
1C Assels realized ag follows,

Inves :
tments Rs. 10,200, Bills Receivable & Debtors Rs. 14,100, Stock 7,250

1.050 Machinery 4,300 Buildings Rs. 13.200
All salilieta " . o i g3 are I\s. UYL
uznt[he Liabilities were paid ofr, T'he cost of Realization amounted to Rs. 300.
D y
ecame Insolvent and Rs. 497 only were recovered from his private estate

prepare the necessary led ger Accou i
ik ntst
decision in Garner V/s Murray, P loeethe Baoks of the firm sppiying the

The following Figures are taken

' from the Books of Departmental stores.
Particulars

Dept x Dept Deptz

Purchases . 3,00,000 4,5(),030y 12,00,0(‘))0

_ Returns outward K 30,000 15,000 45,000
Sales | 9,15,000  18,30,000-  27,45,000

Return Inwards . 15,000 30,000 . 45,000

Wages : . 60,000 © 90,000 1,20,000

Opening Stock 75,000 1,05,000 . = 15,000

Closing stock , - 1,20,000 75,000 60,000

“1). Inter departmental Transfers

- From x toy Rs. 15,000 and ‘z’ Rs. 30,000.
From y to x Rs. 7500 and ¢z Rs. 15,000.
~ From zto x Rs. 10,500 and ‘y’ Rs 13,500.
II) Following expenses are to be allocated Equally
Telephone Rs. 4,500, Insurance Rs. 9,000, Sundries 13,500
ITIT) Rent Rs. 36,000 to be divided in 1:1:2 respectively.
IV) . Other Expenses: K Y
Discount Rs. 27,000 Bad debts Rs. 18,000
Income tax Rs. 96,000. Legal charges Rs. 30,000. | |
Prepare Departmental Trading and profit & loss Account in columnar form. .
Raghu & Roopa were participants in a Joint venture sharing Profits & I-Joss; in the
Ratio of 2:1 Respectively. Each Party maintains a complete 'records in hfs own
Books. Raghu supplied goods to the value of Rs. 75,000 and Inciirs an expenditure of
Rs. 3000 on them and Roopa Supplies goods to the extent of Rs. 60,'000 and her

expenses amounted to Rs. 4,500.
Raghu sells all the goods for Rs
a commfssion at 5% Accounts are s€ _
Give the necessary ledger Accounts in
record the above Transactions.

1.80,000 for which he is eriitled to Receive

ttled by Bank drafts. ‘
the Books of Raghu and Roopa to

(P.T.0
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1)
I & losses Equally: They deci
16. ‘x"and ‘y"are the partners in a firm sharing pro l3] 12.2015. When their By,
. :8 an ert their Business in to a Itd. Company on 21
sheet-stood as under. . R¢
Liabilitics I8 SNSAERS, 73 3100,
Sundry Creditors 30,000 Bmld!ngs ' 34001,
Loan Creditors 20,000 Machinery 3.001
Loan from Bank 10,000 I"VCSt.memS : 25.001,
Reserve fund - 5,000 Stock . -
! ’ b AS 20,0(](;
Capital - Sundry Debtor . 10,00
X : 30, 000 Bills Receivable e
Y 30,000 - ' S .
' : 1,25,00
1,25,000 | !

Other Informatlon : ;
‘Goodwill Buiidings and machmery have been valued at Rs. 40, 000 30 000 and Rs,

a)
50,000 respectlvely : : :

b) The Loan creditors have agreed to accept 10% preference shares in the company
soon after conversion in settlement of their claim. - i

¢)  The vendor firm has to be allotted 12 ,000 equity shares of Rs 10 each fully paid in

settlement of the. purchase consideration.
Prepare the Necessary ledger Accounts | '

17.. M. Patil wrote a Book on Accountancy and got it pubhshed with Mangalore publishers
on the terms that Royalties will be paid at Rs. 5 per copy sold.

Subject to a minimum Rent of Rs. 15 ;000 per year with a. right of recoupment of
short workings over the first three years of the Royalty Agreement.

Year No copy Printed No of copies of closmg_ stock
| 2015 . 2000 | 100> "
© 2016 3000 200

2017 4000 - 400

2018 5000 ' 500

Prepare Minimum Rent A/c Royaltles Alc, Short workmgs A/c & Mr Patil Account
in the Books of mangalore publishers, ] '
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m. 11 Semester Degree Examination May/y
CO\‘I\IFRCF ‘ =
. Financial/\ccounﬁng I
| Paper - 33
;.‘: Time : 3 Hourg R
;Instructlons to Candidates: oo e AR 80
Neatness carries weightage,
... -Answer any ten of the 1"0110wing-SECTION A
1. Who is an Insolvent Partner? pEE
2 - What is Realization Account?

8.0 What is Minimum Rent?

4. What 1s sale to a company?

S. What is purchase con51derat10n‘7

7 Stfite the decisions in the Garner V/s Murra;

7. {.:thive any two advantages of Departmental chounts

t ;_.._,.“E,‘_State the types of Branches.

9.. What is Goods in Transit?

10. State Two objectives of Amalgamation. :

11. Mention Two differences between ‘Amalgamation’ and ‘Sale of a partnership’.
G1ve the Meaning of piece meal Dlstnbuhon of Cash. =~ '

R SECTION - B _ -
K’Answer any Three of the following : - - - (3%5=15)
;;What do you mean by Branch? Explam dlfferent types of Branches T

14. .' State the basis of allocation of followmg expenses
~.a) Carriage Inward '
b) Supervisors Salary
- ©) Commission on sales
. -d) RentofBuilding
15. From the following particulars Prepare Royalty payable chart

" Minimum Rent Rs. 35,000.

" Rent of Recoupment first three years Royalty Rs. 2.50 per ton. e
- Year 2006 2007 2008 - 2009
{  Output (ton) 10,000 15,000 18000 . ;.. 22000

[PT.0
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. Account.
i!ngm.inqrignlln\ving transactions preparc Branch Debtors 7 25,000
Debtors 1.1.2017 35,700
Debtors 31.12.2017 750
Allowances to customer . I 51,000
Cash Received from Debtors 620
Retumns from Debtors 2400
Discount allowed to customers 900
Bad debts

17.

18.

19.

230

. . , repare columnar Trading and prof;
Following are the particulars of Two depts x & y P lilocatloﬂ for two depart in the r

loss A/C. Assuming that All Indirect expenses ar¢ d

Opening stock | . 20,000 30,000 50,000
Purchases - 40,000 160,000  1,00,000
Sales | | ©1,00,000  1,20,000  2,20,000
Closing stock S © 20,000 40,.000'_ 60,000
Rent - s o H RO SEERS 12,000
Salary - : S L TN 6,000
Advertisement : , SRR =N et 18,0000

| SECTION-C? B {
Answer any Three of the following : =~ = P (3x15=43§
P. Q and R Equal Partners. They decided to dlssolve the ﬁrm on31. 12 2016 on that dat {'.1
their Balance Sheet was as follows. | o , 4
Liabilities = i, Rs. | “Assets . Rs.
Creditors 10,000 Cash at Bank 4,000
B/P | | 5,000  Other Assets 66,000
Capitals : b A
4 ' . 30,000
Q ; : | 20,000
R | | 5,000

70,000 . 70,000

Desai brothers opened a Branch at Bidar on 1. 12016 G()gds Brancll
at cost +25%. All cash Received at the Branch was booked erl;n rioed to the B
From the following particulars prepare Branch Account in the Books of Head office.
Stock on 1.1.2016 (Invoice price) 4000 §
Debtors on 1.1.2016 | 4; 000
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Petty cash on 1 3 20 3)
-1-<016 23221
Petty expenses )
Total Sales R0O
Stock on 3 1.12.20] _ 1,000
Debtors on 4 6 (Invojce Price) 1,40,000 :
1-12.2016 76,000
Bad debts 80"0(}0 *
G ,
G::O:S sent to Branch (Invoice Price) 1,600
5 z s Returned from Branch (LP) 1,20,000
L. EXpenses pai
e Paid by Head offjce 8,000
Salary | 6,000
Sundry expenses 6,400
- Petty cash . 2,400
. : , 1,200
Harish, Patri and Ja SRR i '
: gadeesh are partners with 5:3:2 rati - ‘
s Di : :3:2 rat
firm was Dissolved and the Balance sheet was as urlzd:_respecﬁf’ﬂ)’- On 31.3.2017 the
T, Balance Sheet
Liabilities Ra “Assets Rs
Cap- tals " Debtors 1 , 26,00(_)
pElaril 70,000 - Stock ‘ 50,000
Patrl. 54,000 Cash Balance 4,000
Jagadeesh 8,000 = .
Gen. Reserve 20,000
Sundry creditors 28,000 :
1.80,000 . 1,80,000
The Realization of Assets and respective expenses were as under.
2017 Debtors - Stock Expenses
~April 12,000 - 6,400 400
May 60,000 25,000 3,000
Jun; 40,000 17,000 -2,000
: ini . 0.
Further it was agreed that Jagadeesh should takdee over liir:z;m::z ﬁbt at Rs. 1,00
. - 1 cash under ethod.
Prepare statement showing distribution of T surp p ‘
(RT.O0
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21. The Santhosh Mines Ltd took from Shahabad co

years from 1.1.2014 on a Royalty of Rs. 5 per t
of Rs. 20,000 and power to recoup short workings during th

The annual output were as follows.

2322

mpany a lease of Mine for a period of 25

onne of Minerals got with a Dead Rent
¢ first five years of the lease.

2014 2000 tonnes
2015 3v00 tonnes-
2016 4000 tonnes
2017 4500 tonnes
2018 5000 tonnes

Prepare Royalty A/c Short wor kmgs Land Lord A/c

22, From the following particulars prepare the Departmental Trading and profit & 1oss Alc

for the year ending 31 12. 2014 : - )
Particulars R 5 Dept X Dept Yo - Total
~ Opening stock 14,000 . 12,000 . 26,000
Purchases 75,100 - 69,800 - 1,44,900
Sales .1,00,000 80,000  1,80,000
Returns outwards st =] 100 . 800 1,900
Salaries : 9,000 . - 8500 - 17,500
General Salaries L S 11,600
Rent and Rates. 6,000
Advertising 8,100
- Insurance , 1,000
Camage outwards ‘ 5,400
Discount allowed 1,800
Discount earned 1,430
Accountancy charges 500
2 860'

Carriage Inwards
Additional Information:

a)  Goods transferred from Dept ‘X’ to Dept ‘Y’ worth Rs. 5 ,000 were not recorded

b) Gen Salaries are to be allocated Equally. _

c) The Area occupied in the ratio of 3:2. . |

d) Insurance Premium and Accountancy cha:ges cannot be allocated convemently to
any Departments.

e) Closing stock of Dept ‘x” was Rs. 16,600 & that of Dept ‘y’ Rs. 16,800.
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- I Semeste
COM;ﬂ(};‘:SSZé)cgrce Examination, May/June - 2019
Num OMPUTER SCIENCE)
erical ang Statistical Methods
Paper No. - 2.5(Vocational)

Tmlé + 3 Hours _
Maximum Marks : 70

o : SECTION -A
-a.  Answer any five questions,
~ b. Each question carries two marks. - ) (5%2=10)

o b : aile wl.-ité't'he bmaxy codes for 13 and 15. -
b Is(95C3)octal? ‘
c : Find 2’s -coﬁlp_léme»ﬁtof_ 110011.',
| d. | Whgt is primal;y_défa? . g
e; - Whaf do yoﬁ méaﬁ by a_rithrnetiq mean?
ﬁ Define Standard deviation.-
g Whatis probabilitj?

SECTION-B

a.  Answer any Four questions. , ' : L iy
b. Each question carries five marks. - . |

2. Convert decimal 98 to octal.

‘ 3. Explain binafy multiplication with suitable example.

(PT.O
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4. Find 1's and 2°s complement of 1010001.
5.  Compute the median from following data. _
3040 | 40-50

Visits 0-10 10-20 20-30 Ur W 7
Frequency| 5 25 25 15

6. Compute standard deviation from the following data. sTi30-125
Daily Wages 100-105 | 105-110 | 110-115 1153-212' 3‘{ |
No. of Employees 20 21 23 —

7.  The ranks of students in Computer and Statistics are given, compute rank correlaticr.
Computer |1 |23 |6 |5] 4
Statistics 1 [3[2]4]5]6

SECTION-C
a. Answer any Four questions. , : '
_ % s (4x10=40))

b. Each question carries ten marks.

- 8. - Convert decimal 243 to octal and hexadecnnal
Calculate the binary addition and subtractlon for the followmg (1 1001) and (0001).

9.

10. Subtract 1101 — 1010 using 1’s and 2’s complement method.

11. Compute mean and mode from the followmg dataZ
Score | 5-10 | 10-15|15-20| 20-25 | 25-30 | 30-35 | 35-40
No. of 4 | 8 10 12 | 16 20 24

_ Students .

12. Colculate standard deviation and coefficient of standard deviation for the following
X |16 [22 |28 34|40 |46
F~ [10 |15 |18 |20 2430

13. Calculate the Coefficient of correlaﬁon between Xz and Y series from the following

data: :

X 390/ 6516219082775 (25/98]| 36| 78
Y 47 53| 58 _86 62 | 68 60 91| 51| 84 _
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10,
L

s 12,

F‘,kpand any FIV E from the following: | "

A

B.Com. 11 Semester Degree Fy e

amination, May/June - 2019
COMI‘UTER SCIENCE,

Computer Application - 11
Paper No. - 2.6(0la)

Maximum Marks : 80

SECTION -A

~ Answer any FIVE from the following : | (5%1=5)

isa indivi_dual page of a preseﬁtation.
_key is used to end slide show,
A 1n a table is recognized as keys.

is a collection of related data. _

consists of a grid of rows.and columns.

‘are summarized data.

(5x1=5)

PPT
2NF

ROM

OHP
SQL
RAM

[PTO

Scanned by CamScanner



) 2
IR @ 2
; (5x2=1y),

i
Answer any FIVE from the following?

13. What are components of presentation?
14. Name a?ny two Slide Transitions.

‘15. What is infpnnatioh? ‘

16, WhatisTable?

 fr A What is Queﬁ? :

'18. “Whatis Database?

. éE(_:TION B
- Answer any THREE t;rom ﬁne follo‘;z\(ing . . i (3x5=15)
g , 19 ‘Write the st'e_psinvb.l.ved in saying-a érééehtation.
-~ 20. State objectives of database?
21. Whatis Query? Wh-at-ére types rof Que;ry?

22, State the steps to create table using design view.

23. How do you set Slide Transition effect?
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24.

25.

26.

27.

28.

a)
b)

SECTION-. ¢

Answer any THREE frop, the f ollowing ;

Write a‘note on Slide Sorter View

State the steps to apply Slide Anirﬁation.

Write the needs for database,

| Explain the different models of DBMS.

How do you' create bulletéd and numbered list?.

What are seven objects of MS Access? Explain.

- Write a note First Normal Form.

23224

(3x15=45)

What is Form? State the steps involved in creating Form.

~ What are qualities of information?
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T Semester (Cpegre ™ PHM/B.SUBSW/GMT/IMR

¢8ree Examination Ma
" A -
JOURNALISM (OEC) e 2

Audio Visyal Media
Paper No. 2.2
Time : 3 Hours
- Instructions to Candidates, : v Marka: 0
; I;:::tt ‘34 any TEN questions,
2 : B .‘C, any TWQ questions,
- > any TWO questions,

 PART -'A
?,Téﬂ-@ &

Answer the -one or two sentences en. |
‘ | any ten. - , 10x2=20
O3RYTTTR 10 3 : 20T wBm  28@ INYY  w03dA. ( )

- - 1.-  Yuvavani

SV B
2.. CBFC

| VTR
3. Chukki Chinna
abE o3,
4.- Sky Radio
§ 3 geodne

5, . SITE -
.- Ry

6. ISBS
h3 AINEORNINE O

7. DSNG
BT

8. Byte
33, YT

9.  Raja Harishchandra

w303
[ET.0
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10. Sathyajeeth ray
Ngwe  oe
11. Film fare
PSFHO
12. BARC
LOTE
 PART - B
mﬁ— !
Answer any two of the followmg i =
CRYTRTAL  A0RE, QuIDRO. 2x10=20)
13. Explaln the types. of Radlo Programmes
Begodee ONFTRNG), AJOR.
"14. Discuss the Role of TV in Educat10na1 and Rural Development. -
_ 88ro - Tonw ms:aoe—?agw aoda@ esaa "?:9’553 aéa&s'fo :
15. Explain the Recent Trends in Indian Cinema. - '
@adaeoda Bo3e8 _]'(eé QBB - &m@ﬁt’ém e‘bwaro '4 '
16. DlSCUSS the Merits and Demerits of 24><7_Ne_ws channels.
24x7 A’D@Q HING OWINO  ToNR  OTIIAONTRY,  BBFA.
PART - C |
‘Answer any two of the following. - : (2x15 =30)
030 TORCR _add% SUZ0A. : '
17. Explain the: structure ofTV channels. . - I o W S
' B2 LI  TOA; Nodaaaiojam AWDA. | ' N
18. Discuss types of Cinema with examples.
. ~Ja5 Gtlantstelxralstnlolaly SRS et Dﬁﬁ@aﬂa 328F R,
19. E\plam the Recent Trends in Documentary and.Short Films.
WY, TNR IDBINTY  Asew scmaabﬁe:m [OK.
20. Describe the steps of Cinema production.
o9, 2

Hosu3 ATRFRT  ToINUM,  DFear.
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